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> data("PlantGrowth")
> str(PlantGrowth)
'data.frame': 30 obs. of 2 variables:
$ weight: num 4.17 5.58 5.18 6.11 4.5 4.61 5.17 4.53 5.33 5.14 ...
$ group : Factor w/ 3 levels "ctrl","trt1",..: 1111111111 ...

=. ANOVAKLE

> aov_mod <- aov(PlantGrowthSweight ~ PlantGrowthS$group)
> summary(aov_mod)

Df Sum Sq Mean Sq F value Pr(>F)
PlantGrowthSgroup 2 3.766 1.8832 4.846 0.0159 *
Residuals 27 10.492 0.3886

Signif. codes: 0@ “***’ 0.001 ‘**’ 0.01 *’ 0.05 ‘.’ 0.1 ° ° 1

X EfEMbase RERY aov EINEANOVAIREY, MERAILIEEIAF T EX N AIp(E/NF0.05,
REAE LA —AISERR T HINGH,

M. BEhk


mailto:free_learner@163.com
https://alexbrain.cn/

WERANOVAKRIGRE, BAEEHITERKE (post-hoc tests) KH—FTIRINEEFRLA ZEH
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> TukeyHSD(aov_mod
Tukey multiple comparisons of means
95% family-wise confidence level

Fit: aov(formula = PlantGrowthSweight ~ PlantGrowthS$group
$'PlantGrowthsgroup®

diff Twr upr p adj
trtil-ctrl -0.371 -1.0622161 0.3202161 0.3908711

trt2-ctrl 0.494 -0.1972161 1.1852161 0.1979960
trt2-trtl 0.865 0.1737839 1.5562161 0.0120064

> pairwise.t.test(PlantGrowthSweight, PlantGrowth$group, p.adjust.method="'fdr
Pairwise comparisons using t tests with pooled SD

data: PlantGrowthSweight and PlantGrowthS$Sgroup
ctrl trt1

trtl 0.194 -
trt2 0.132 0.013
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WEJLUfEAemmeansB#1TE G, 7HIENT:


https://cran.r-project.org/web/packages/emmeans/index.html

> library(emmeans

> EMM <- emmeans(aov_mod, ~group

> contrast(EMM, 'pairwise', adjust = 'fdr'
contrast estimate SE df t.ratio p.value
ctrl - trt1 0.371 0.279 27 1.331 0.1944
ctrl - trt2 -0.494 0.279 27 -1.772 0.1315
trtl - trt2 -0.865 0.279 27 -3.103 0.0134

P value adjustment: fdr method for 3 tests
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